
Lesson 1.1 Assignment  Name:_________________________________ 
 
Name each line in two different ways. 

1) .  

 

2) .  

 

3) .  
 

 

 

 

Draw two points and label them.  Then 
use a ruler to draw each line.  Don’t 
forget to use arrowheads to show that the 
line extends indefinitely. 

4) 𝐾𝐿ሬ⃖ሬሬሬ⃗  

 

5) 𝐷𝐸ሬ⃖ሬሬሬ⃗  with 𝐷(−3, 0) and 𝐸(0,−3) 

 

Name each line segment. 

6) .  

 

 

 

7) .  

 

 

 

8) .  

 

 

 

Draw and label each line segment. 

9) 𝐴𝐵 

 

10) 𝑅𝑆 with 𝑅(0, 3) and 𝑆(−2, 11) 

 

Use your ruler to draw each segment as 
accurately as you can.  Label each 
segment. 

11) 𝐴𝐵 = 4.5 cm 

 

 

12) 𝐶𝐷 = 3 in. 

 

 



Use your ruler to find the length of each line segment to the nearest tenth of a centimeter.  

Write your answer in the form 𝒎𝑨𝑩 =______. 

13) .  
 

14) .  

Complete. 

15) Name each midpoint and the segment it bisects. 

 
16) Draw two segments that have the 

same midpoint.  Mark your drawing 
to show congruent segments. 

 

 

 

 

17) Draw and mark a figure in which 𝑀 

is the midpoint of 𝑆𝑇, 𝑆𝑃 = 𝑃𝑇, and 

𝑇 is the midpoint of 𝑃𝑄. 

 

 

 

 

Name each ray in two different ways. 

18) .  
 
 

19) .  
 

 

20) .  
 
 
 
 
 

Draw and label each ray. 

21) 𝐴𝐵ሬሬሬሬሬ⃗  

 

22) 𝑌𝑋ሬሬሬሬሬ⃗  
 

 

Complete. 

23) Draw a plane containing four 
coplanar points 𝐴, 𝐵, 𝐶, and 𝐷, with 
exactly three collinear points 𝐴, 𝐵, 
and 𝐷. 

 

 

 

 

24) Given two points 𝐴 and 𝐵, there is 
only one segment that you can name: 

𝐴𝐵.  With three collinear points 𝐴, 𝐵, 
and 𝐶, there are three different 
segments that you can name: 

𝐴𝐵, 𝐴𝐶, and 𝐵𝐶.  With five collinear 
points 𝐴, 𝐵, 𝐶, 𝐷, and 𝐸, how many 
different segments can you name? 
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Use the graph paper to plot each figure. 

25) Draw 𝐴𝐵, where point 𝐴 has 
coordinates (4, 0) and point 𝐵 has 
coordinates (2, −6). 
 
 

26) Draw 𝑂𝑀ሬሬሬሬሬሬ⃗  with endpoint (0, 0) that 
goes through 𝑀(2, 2). 
 
 

27) Draw 𝐶𝐷ሬ⃖ሬሬሬ⃗  through points 𝐶(−2, 1) 
and 𝐷(−2,−3). 
 
 
 
 

28) If the signs of the coordinates of 
collinear points 
𝑃(−6,−2), 𝑄(−5, 2), and 𝑅(−4, 6) 
are reversed, are the three new points 
still collinear?  Draw a picture and 
explain why. 

 

 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

29) Draw a segment with midpoint 

𝑁(−3, 2).  Label it 𝑃𝑄. 

 

 


